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Which of the following is a particulate pollutant?

a. Ozone b. Radon

c. Fly Ash d. Ethylene

What are the chemicals that lead to acid rain?

a. sulfur dioxide & nitrogen oxide b. Carbon dioxide
c. Dust d. All of above
The World Health Organization (WHO) defines noise as noise pollution,
a. Above 65 dB b. Below 50 dB

c. 10dB d. 35dB
Hypertension is caused by,

a. Noise pollution b. Water pollution
¢. Radioactive Pollution d. Air Pollution

Chlorofluorocarbon are nonflammable chemicals mainly used in

a. Perfumes b. Refrigerators

c. Air conditioners d. All of the above
The most harmful environmental pollution from nuclear reactor is
a. Air pollution b. radioactivity

¢. Thermal pollution d. Both (a) and (¢)
Thermal pollution causes

Disruptions in natural systems and Disruptions in natural systems and

* even death of aquatic organism D even death of terrestrial organism
Disruptions in natural systems and
c. even death of both aquatic and d. None of the above
terrestrial organism
Thermal pollution is related to
a, Air b. Water
c. Soil d. Climate
Presence of E. coli in water is an indication of =---=------- contamination
a. Fecel b. Lead
c. Viral d. Mercury
Biochemical oxygen demand means
a. Industrial pollution b. Air pollution
Dissolved oxvgen needed by
c. Polluting capacity of effluent d. microbes to decompose organic
waste

How many different types of primary pollutants together contribute to about 90 per
cent of the global air pollution?

a, 3 b. 4

¢ 9 d. 6
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